
	

	

Are	the	reactants	O2 &	a	hydrocarbon	(CxHy)?

Yes
Combustion

CH	+	O2 -->	CO2 +	H2O

No
Are	both	the	reactants	&	products	compounds?

Yes
Double-Replacement
AB	+	CD	-->	CB	+	AD

No
Is	one	of	the	reactants	an	element?

Yes
Can	either	be...

Single	Replacement
AB	+	C	-->	CB	+	A	(for	

metals)
AB	+	C2 -->	AC	+	B2 (for	

halogens)
*use	activity	series

Synthesis
A	+	B	-->	AB

(2	reactants	-->	1	product)

No
Decomposition
AB	-->	A	+	B

(1	reactant	-->	2	products)

WHAT	TYPE	OF	REACTION	IS	IT?	


